Chapter 17
Workforce


Chapter 17
work force: Optimizing Human Capital
Solutions to Odd-Numbered End-of-Chapter Problems
1. 97 seconds * 1.2 = 116.4 seconds

116.4*1.12 = 130.368

3. Observed time == 15 minutes; adjustment = 1.3, allowance = 1.05, 20.475

5.  30.36 seconds

7.

	Jerry
	observations
	percentage
	Mike
	observations
	percentage

	Practice
	36
	24.00%
	Practice
	45
	30%

	Lifting Weights
	19
	12.67%
	Lifting Weights
	30
	20%

	Nutritionist
	9
	6.00%
	Nutritionist
	12
	8%

	Sleep & Recovery
	14
	9.33%
	Sleep & Recovery
	18
	12%

	Social
	22
	14.67%
	Social
	9
	6%

	Films
	28
	18.67%
	Films
	21
	14%

	Study Playbook
	22
	14.67%
	Study Playbook
	15
	10%

	
	150
	100.00%
	
	150
	100.00%


9. 

	Activity
	Observations
	Percentage

	Loading machine
	15
	7.50%

	Emptying machine
	15
	7.50%

	Change-over
	8
	4.00%

	Break
	10
	5.00%

	Operating
	152
	76.00%

	Total observations
	200
	 


Without the employee break of 5%, the old equipment would be better.
11.

	Learning Rate
	0.98

	T1
	11.4

	N
	50

	R
	-0.02915

	Tn
	10.17153


13. 

	Learning
Rate
	0.98

	T1
	12

	N
	75

	R
	-0.02915

	Tn
	10.58108


10.58 hours to read the 75th mystery.
	Learning Rate
	0.98

	T1
	12

	n
	521

	r
	-0.02915

	Tn
	9.999893

	
	


He would  have to read 521 books to get below 10 hours.
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